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QUESTION 1

Click the Exhibit. 
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You have just configured on an OSPF adjacency between two routers. After you commit the configuration, you notice
that your adjacency is not up. 

Referring to the exhibit, what would cause the problem? 

A. You must configure lo0 on R2. 

B. You must configure hello and dead intervals on R1. 

C. You must configure interface-type on R2. 

D. You must configure bfd on R2. 

Correct Answer: C 

 

QUESTION 2

Click the Exhibit. 
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Referring to the exhibit, which set of interfaces will be registered by MVRP? 

A. ge-0/1/0, ge-0/1/1, ae0, ae1 

B. ge-0/1/0, ge-0/0/2, ae0, ae1 

C. ge-0/0/1, ge-0/1/1, ae0, ae1 

D. ge-0/0/1, ge-0/0/2, ae0, ae1 

Correct Answer: D 

 

QUESTION 3

Click the Exhibit button. 

JN0-647 PDF Dumps | JN0-647 VCE Dumps | JN0-647 Practice Test                                6 / 9

https://www.geekcert.com/jn0-647.html
https://www.geekcert.com/jn0-647.html
https://www.geekcert.com/jn0-647.html


https://www.geekcert.com/jn0-647.html
2024 Latest geekcert JN0-647 PDF and VCE dumps Download

JN0-647 PDF Dumps | JN0-647 VCE Dumps | JN0-647 Practice Test                                7 / 9

https://www.geekcert.com/jn0-647.html
https://www.geekcert.com/jn0-647.html
https://www.geekcert.com/jn0-647.html


https://www.geekcert.com/jn0-647.html
2024 Latest geekcert JN0-647 PDF and VCE dumps Download

Referring to the exhibit which two statements are true? (Choose two.) 

A. Untagged control packets entering interface ge-0/0/1 are not recognized. 

B. Untagged data packets entering interface ge-0/0/2 will be tagged with VLAN ID 20. 

C. Untagged control packets entering interface ge-0/0/3 are passed without a VLAN tag. 

D. Untagged data packets entering interface ge-0/0/3 will be tagged with VLAN ID 1. 

Correct Answer: BD 

 

QUESTION 4

Click the Exhibit button. 

You have deployed Sparse Mode multicast in your network using the IGP metrics shown in the exhibit. 
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Which path will (*, G) traffic follow form the source to the receiver before the (S, G) state is registered? 

A. Source, R1, R4, R5, R6, Receiver 

B. Source, R1, R2, R5, R2, R3, R6 Receiver 

C. Source, R1, R2, R3, R6, Receiver 

D. Source, R1, R2, R5, R6, Receiver 

Correct Answer: B 

 

QUESTION 5

In a Layer 2 environment where 802.1X is deployed with its default parameters on EX Series switches, which two
statements are correct? (Choose two.) 

A. RADIUS authentication requests are sent from the authenticator to the authentication server. 

B. DHCP traffic from supplicants is denied by default through the authenticator. 

C. RADIUS authentication requests are sent from the supplicant to the authentication server. 

D. DHCP traffic from supplicants is permitted by default through the authenticator. 

Correct Answer: AB 
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